Pik2 94 M X ¥ R HF

1 RERI R N R — A

(HA7: 1)

B H T E HTAEHE TR | 25588 AJE
(FEIEICLDIN )
IR R A 430,714 420,820 9,894
e T S NN 412 410 2
= BUF]EBC 24 4 A 52 52 0
FDMDIA 2,340 2,422 A 82
FEEENAGE (1) 433,518 423,704 9,814
N S H 298,109 295,857 2,252
FEE M 72,006 70,410 1,596
B 71,849 62,490 9,359
I & PR ekA 58 58 0
DD H 1,348 1,348 0
HEIEE) S HEE(2) 443,370 430,163 13,207
FEEHESICTGERFEG) = (1) -(2) A 9,852 A 6,459 A 3,393
(i 5% B S L 2 LD )
it 55 i 5 WA%M) 0 3,000 A 3,000
[ & PE I S HY 39,200 23,000 16,200
i 55 HE ik S5 S HA B (5) 39,200 23,000 16,200
Ji 5% FE A S AN 72K (6) = (4) = (5) A 39,200 A 20,000 A 19,200
(ZDMMDOIEENC L DI )
FEST & PEHUAR A 53,701 24,630 29,071
P —E A Xy A AU 1 0 1
Z DA OTEFENN A G (7) 53,702 24,630 29,072
FESLE PE 2,650 3,077 A 427
P AX oy TR N4 3 HY 0 0 0
Z DM OTEE) X HF (8) 2,650 3,077 A 427
ZOMOIEENE S FER1(9) = (1) -(8) 51,052 21,553 29,499
T (10) 2,000 0 2,000
YHIE S GEREAG (D) =3)+6)+(9)-10) 0 A 4,906 4,906
AR SN E A5 (12) 138,576 143,482 A 4,906
YR SNV E A5 (13) =)+ (12) 138,576 138,576 0




PR 2 94 M X P HOHE

2 NPT (L a— AT A) (W7 1)
B H T E HTAEHE TR | 25588 AJE
(FEIEICLDIN )
IR R A 43,804 35,635 8,169
FERENIN G (1) 43,804 35,635 8,169
N S H 32,662 31,638 1,024
FEE M 6,048 6,683 A 635
R S 6,992 4,814 2,178
R A PR e 1 0 1
HEEIEE) SR (2) 45,703 43,135 2,568
FEEREESINER(3) = (1) -(2) A 1,899 A 7,500 5,601
(ZDMOTEENZ LD )
FENTE PEHUIA I 2,000 1,000 1,000
Z DA OIEEIN A G (4) 2,000 1,000 1,000
FENLE PE S 0 0 0
B — B RIX oy [l N4 3 H 1 0 1
ZDOMOTEE X HE (5) 1 0 0
ZOMOIEENE SR (6) =W -65) 1,999 1,000 999
T #E (7) 100 0 100
YR SN EFEAHB®)=0)+6) - 0 A 6,500 6,500
HITHEA R V& 4% (9) 4,457 10,957 A 6,500
YHAR HNVE A5 (10) = (8)+ (9 4,457 4,457 0
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.EE e — At 22— (F A —E R)

(HA7: 1)

B H T E HTAEHE TR | 25588 AJE

(FEIEICLDIN )
IR R A 86,009 88,202 A 2,193
= BRI 24 A A 11 11 0
ZDMDIA 193 190 3
FETRENN G (1) 86,213 88,403 A 2,190
N S H 62,051 55,364 6,687
FEE M 10,253 10,180 73
B 33,091 19,066 14,025
DD H 158 158 0
HEIEE) S HEE(2) 105,553 84,768 20,785
HEEHESITGEREG) = (1) -(2) A 19,340 3,635 A 22,975
(it 5% B S L 2 KL AU )
it i A LIX]\§+(4) 0 0 0
[ i & pE B S HY 10,000 11,000 A 1,000
i 55 i S5 S HA B (5) 10,000 11,000 A 1,000

Ji X FE A i SN FERA(6) = (0-(5) A 10,000 A 11,000 1,000
(ZDMMDOIEENC L DU )
FENTE PERUR I 30,001 11,000 19,001
Z DA DOTEFENN A G (7) 30,001 11,000 19,001
RN PE 361 435 A 74
Z DM OTEE) X HF (8) 361 435 A 74
Z DA OIRENE 4N FEKA (9) = () -(8) 29,640 10,565 19,075
T (10) 300 0 300
YHIE I GEREAF D) =3)+6)+(9)-10) 0 3,200 A 3,200
HIT R N E 5% (12) 21,336 18,136 3,200
YR SNV E A (13) =)+ (12) 21,336 21,336 0




PR 2 94 M X P HOHE

4 MR el g — (A7 1)
B H T 4 RIAEEE TR | 5018 A
(FEEJRENIC LA R)
e L E =3 1IPN 54,511 54,078 433
S ISR PN 1 1 0
ZDMDIA 95 95 0
FETRENN G (1) 54,607 54,174 433
N S H 47,234 43,130 4,104
R S 6,773 12,451 A 5,678
ZDAhd T H 1 1 0
HENRE S (2) 54,008 55,582 A 1,574
FHEIEHE S GEREG) = (1) -(2) 599 A 1,408 2,007
(ZDMOTEENZ LD )
FENT & PE U 0 0 0
Z DM OIEENULA G (4) 0 0 0
FENLE PE 499 455 44
Z DA OIEE S H F (5) 499 455 44
Z DO DIEENE 4N FEEA (6) = (4)-(5) A 499 A 455 A 44
T #E (7) 100 0 100
YR SN EFEAHB®)=0)+6) - 0 A 1,863 1,907
HiTH R L E A% (9) 3,070 4,933 A 1,863
YR ZHAE A% (10) = (8)+(9) 3,070 3,070 44




PR 2 94 M X P HOHE

(HA7: 1)

5. lin B A LR E

B H T E HTAEHE TR | 25588 AJE
(FEIEICLDIN )
HELVFHFRE FEILA 21,662 22,960 A 1,298
2 CAIISNRERE PN 0 0 0
ZDMDIA 163 162 1
FETRENN G (1) 21,825 23,122 A 1,297
N S H 17,713 17,653 60
R S 3,663 5,390 A 1,727
DD H 161 161 0
HEIEE) S HEE(2) 21,537 23,204 A 1,667
FHEIEHE S GEREG) = (1) -(2) 288 A 82 370
(ZDMOTEENZ LD )
FENT & PE U 0 0 0
ZDOMOTEENAFE (4) 0 0 0
FENLE PE 188 189 A1
Z DA OIEE S H F (5) 188 189 Al
Z DO DIEENE 4N FEEA (6) = (4)-(5) A 188 A 189 1
T #E (7) 100 0 100
YR SN EFEAHB®)=0)+6) - 0 A 271 270
HITHEA R V& 4% (9) 5,255 5,526 A 271
YR ZHAE A% (10) = (8)+(9) 5,255 5,255 0
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6. B ES i P (W7 1)
B H T 4 RIAEEE TR | 5018 A
(FEEJRENIC LA R)
e L E =3 1IPN 11,748 12,159 A 411
F DDA 42 42 0
FERENIN G (1) 11,790 12,201 A 411
N S H 9,343 10,409 A 1,066
R S 2,208 1,153 1,055
F OO H 42 42 0
HENRE S (2) 11,593 11,604 A 11
FREEHESICGEREG) = (1) -(2) 197 597 A 400
(ZDMOTEENZ LD )
FENLE PEURIA 0 0 0
ZDOMOTEENLAFE (4) 0 0 0
FE N PE Y 97 151 A 54
Z DA OIEE) S H F (5) 97 151 A 54
Z DA DOIEENE 4N T FEEA (6) = (4)-(5) A 97 A 151 54
T E (7) 100 0 100
YHE SIS EFEAEHB)=0)+6) - 0 446 A 500
FiTH R AL E A% (9) 1,428 982 446
WK ZAAE A% (10) = (8)+(9) 1,428 1,428 0




